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Name: _____________________

Company: __________________
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1. If a slight leak occurs in the breathing loop/ circuit or facemask seal the user generally will?

      A. Hit the demand valve more often

      B. Reduce duration

      C. Increase oxygen consumption

      D. All of the Above

      E. None of the above

2. Under extremely heavy work conditions, if the user inhales and collapses the diaphragm as far as it can                          

     travel, it activates the?

      A. By-Pass Valve

      B. Demand Valve

      C. Relief Valve

      D. Check Valve

3. What specifically controls the directional flow of the breathing gasses?

A. The hoses

B. The mask

C. The breathing bag or chamber

D. The CO2 scrubber/ absorber

E. The check valves

  4. The function of the regulator is to:

     A. Increase cylinder pressure in the apparatus

     B. Moisture control

     C. Decrease cylinder pressure in the apparatus plumbing and pneumatics

     D. A & C

 5. Manual overuse of the                     will significantly reduce the duration of the apparatus.

     A. Relief/ Vent valve

     B. Purge valve

     C. On/Off Valve

     D. Emergency Bypass. 
6. If Positive Pressure could be attributed to ONLY ONE component in the apparatus what would it be:

    A. The Spring(s)

    B. The breathing chamber or breathing bag

    C. Oxygen pressure

    D. Bypass valve

7. A small leak in the breathing circuit /loop will cause the                      valve to open frequently.

    A. Relief/ Vent

    B.  Demand

    C.  Bypass

    D. None of the above

8. If you hear the Demand every time you inhale, and you are not working hard, you should:

     A. Use the Emergency By-Pass Valve

     B. Breathe Slower

     C. Turn off the oxygen cylinder

     D. Check your facemask fit and adjust it for a better fit.

9. In a properly working positive pressure NIOSH/ MSHA approved Closed Circuit breathing apparatus the pressure inside the breathing loop/ circuit is:
    A. Lower than ambient

    B. The same as ambient

    C. The same as cylinder pressure

    D. Slightly higher than ambient

10. MSHA requires Periodic Maintenance should be preformed at least                on 

       Mine Rescue Breathing Apparatus.
   A. Weekly 

   B. Every 2 weeks 

   C. Monthly 

   D. Every 30 days
11. If the sensor’s full span value or span is less than                     of the applied (calibration ) gas value/   concentrations, the sensor will fail calibration.   
A. 30%

B. 50%

C. 75%

D. 100%

12. The gas instrument measures nitrogen dioxide in                           increments.

       A.  0.01 ppm

       B.  0.1 ppm

       C.  1.0 ppm

       D.  0.1 ppb

13. In non-latching mode for the gas instrument, all high alarm conditions (and not in OR range condition) will   clear or turn off automatically when the gas concentration has decreased to a level below the high alarm.

A. True

B. False

14. During calibration, what is the recommended flow rate?

       A.  0.5 LPM

       B.  1.5 LPM

       C.  2.0 LPM

       D.  2.5 LPM

15. Prior to entering normal Gas Reading mode during start up, the gas instrument will display all installed sensor types.

A. True

B. False

16. Silica can affect the combustible gas sensor and may cause readings of combustible gas to be lower than actual gas concentrations.

A. True

B. False

17. The calibration of the combustible gas sensor should be verified after any incident where the combustible gas content has caused the instrument to display an over range condition.

A. True 

B. False

18. Oxygen enriched atmospheres may cause combustible gas readings to be

      lower than actual concentrations.

A. True

B. False

19. The manufacturer recommends that a functional (Bump) test be performed on every 

      instrument after each days use.

A. True

B. False

20.  Ethane is often detected along with methane in mines that have methane and like

       methane is much lighter than air.

A. True

B. False

21. The specific gravity of Nitrogen Dioxide is                    .
      A. 1.7493

      B. 2.0756

      C. 1.5894

      D. 2.9153
22. The specific gravity of Acetylene is                        . 

      A. 0.9674

      B. 0.9107

      C. 0.9672

      D. 1.0493

23. For contest purposes, a 30 second seal check simulating 10 minutes will be 

      sufficient for the pump-type multi-gas detector.

A. True

B. False

24. Chemical analysis can be used to detect oxygen deficiency.

     A. True

     B. False

25. The stretcher weight test is required as part of the team technician contest.

     A. True

     B. False

26. MSHA requires mine rescue stations serving underground M/NM mines to have how 

      many gas detectors  for each gas which may be encountered at the mine they serve?

A. 2

B. 3

C. 4

D. 5

27. What section of the 30 CFR requires mines to and post a Mine Rescue Notification Plan notifying all the  mine rescue team members that will be needed to assist in the rescue and recovery operation?

A. 46.9

B. 48.9

C. 49.9

D. 50.9

28.  This trio of gases is in the correct sequential order from lowest to highest in specific gravity:

      A.  Carbon dioxide, nitrogen dioxide, hydrogen sulfide

      B.  Oxygen, nitrogen, carbon dioxide

      C.  Methane, carbon monoxide, nitrogen

      D.  Ethane, propane, acetylene

29. For the purpose of contest work, no barricade will be entered without ventilating in 

       front of the barricade if                             .

A. Oxygen is below 17.0%

B. Carbon monoxide exceeds 1200ppm

C. Nitrogen Dioxide exceeds 5ppm

D. All of the above

E. Only  B and C

30.   Temporary bulkheads can be constructed by fitting brattice around a piece of equipment.

        A. True    

        B. False

